EARAROBREBRT —5 XN—ZXBISH—F 202243898 (K) 27@BEE2H

B scaErRCo7FUBHE C15 YSF—MB EEE N
[x&%] 17&:320,000 @  23#&:102,000 @  3#&:58,000MH . 43%&:38,000M”  53&:26,000H
SR RESS /M 3 BF (FB) |94L (EFD | BBIEM | b3F [SiER | AR | #8 | B8 R / B / £E%S
w o LLIEB#¥ 1 : -6-6- - NS (BEE)
1 BB o] R AR Y s
R:d—RYYF B:IL—tS #HEI7—L
~/vs s 4 | EEEKX 1:34.1 8-7-7-7 | 40.9| — 6 472 | SEEz (BEE)
2155 94NV UR £52.0 (2 1/2) *2) IIIEIﬁi(EB
Ri—5—yvF B:YIES Botis
— o, PEB4E 134, -3-3- . - BWPOE (BEE)
3 g | LyTAO 0= R (11314/3 332 ! (4_818) /J\%%Jk
R:IAITATv— B:F4—TA4Fvrvhb =E B
» [EIBRER : -4-4- - BEIBE—A (BEE)
456 Jws—r54 )Lk 4 4 B (12314/29) 5-4-4-3 | 42.6 2 tg;& Iﬁé%
R:Z2MOVITUI—Y B:=D/0OIVR =8 =T
s RFRFAEB : -10-10- - EAlE (BEE)
51709 bolb—Drwya 4 4 B 1(.13/52.)0 9-10-10-9 | 41.0 5 (4+715) /N%%ic
RNV vH=)b B:F4T7T L AW Tesis
~ )7 NOEER— : -5-5- - AliEt (BEE)
6l1]1|7WFEVT X vy | T Y15 |
RiZvF—74) B:7ULT7L7 pla=tie]
u FIII5eiE : -2-2- - mREEX (BEE
- 7 | RA=ILRLO 4 5 ey 1(.33/54.)2 2-2-2-6 | 43.0 8 (?(1)421) ﬁ%am&( )
RIET7R4A47 B:EF7/RUuO ayiie]
< e o= i : -11-11- - BUIBE—% (2EE)
87|10 EvHYRRS—L 6 be 1.(335).9 11-11-11-10| 41.4 11 (4_613) %T_E$1A
RiFvInAO— B NF/FRAFT4T7 | SH5
= ~)IN— % 5 | STE 1:35.9 10-9-9-8 | 42.0| - 9 | 471 |HEH (BER)
9[8|12| =Y HTUN $52.0 F99) @) | PEEE
R:vavFvhyy B:ESYrYYFT— AN FEAI
1) — ~ 8 4 | ASLahE 1:36.1 1-1-1-1 | 44.5| - 7 39 | FEREE (BEE)
10/8| 11| NT¥U—LAY 5.0 G/ Gy | R
R:F4—=FTUSUF BINITVYTPYRFZ—R F—L— - Iv N2 - T7—LERR
3y -~ 4 5 | HIERE— 1:37.8 12-12-12-12| 42.4 | — 12 | 43 |Bitt? (BEE)
1 4| IV—Ya2 04— 54.0 ®) (-4 | 1EEBAOER
RIAYVITSvyva 857944 X s
FAES -40. _g-8- . = BEIIBE—A (REE)
12 3| IREL—F 4% 5 S (19:1?1;) 7-8-8-11 | 46.8 10 (3_858) %”%_
RiIAYYTSwya B:IYEIZI-IL HIEHRUS
@ 1—F—&BIEL
13—7+— 11.7.1.8,6,2,3,5,9,12,10,4
20—F— 11,7,8,6,1,2,5,3,12,9,10,4
30—7— 11,7,8,6,1,2,5,3,12,9,10,4
43— — 11,2,6,8,1,7,5,12,9,10,3,4
o ILRE
B B 2 160 AR 2-5 740 % 3= 2-5 310M 3EE 2-5-8 5,830
7B B 2 140 2-8 3204 Fs E 2-5 3,400 3EH 2-5-8 24,9604
5 470 5-8 2,660 Ba 2-5 4,450
8 270

ABIC OV TRUTEREERRODDZE. THRIIZEL.



